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int main () {
int answer = 0;
int x = 369, y = 258, z = 147;
int a = (x +y + 2) * (x -vy) / (x - 2);

write (a);

a=a+ (a*2)/ (z*3);
write (a);
answer = xX*y + y*z + z*x + a;
write (answer) ;

return O;
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int main () {
int a, b, c;
int result;
a = read();
b = read();
c = read();
result = b * b - 4 * a * ¢;

if (result > 0){




write (2);
}
else/{
if (result == 0) {
write (1) ;
}
else{

write (0);

}

return O;
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int main ()

int b[3], c[10];

int 1 =0, 3, t, ald];

while (i < 5)

{
ali] = read():;
i=1+1;

}

i=0;
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while(§ < 5)

{
if(afi] > alj])
{
t = ali];
alil = aljl;
aljl = t;
}
J =31+ 1
}
i=1 4 1;
}
i=0;

while (i < 5)

{
write(alil):;
i=1+1;

}

b = a;

c = a;

i=20;

while (1 < 5){
if(1i < 3)¢{
write(b[i])

write(c[1]);

}

else(
write(c[1]);

}

return 0;
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iint factorial (int m) {
int £ res = 1;
while(m > 1) {
f res = £ res * m;
m=m - 1;
}

return f res;

int main() {
int n = read();
write (factorial(n));

return O;
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int main () {
int src[3];

int dst[3];
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int index = 0;

int res = 0;

while (index < 3){

src[index] = read();
index = index + 1;

}

index = 0;

while (index < 3){

dst[index] = src[index]
index = index + 1;

}

index = 0;

while (index < 3){

res = res + srclindex]

index = index + 1;

write (res);

return 0;

*2;

+ dst[index];
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int factorial (int m) {
int f res = 1;
while(m > 1) {
f res = £ res * m;
m=m - 1;
}

return f res;

int cal combiniation (int c_base, int ¢ _num) {
return factorial (c base) / (factorial(c num) * factorial(c base -

c_num)) ;

int cal permutation(int p base, int p num) {

return factorial (p base) / factorial (p_base - p num);

int main () {
int n = read();
int k = read();
write (cal combiniation(n, k));
write(cal permutation(n, k));

return O;
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int main () {

int num, arr([10], key;
int i, res;

int left, right;

num = read();

if (num > 10) {

num = 10;

while (i < num) {
arr[i] = read():;

i=1+1;

key = read():;

left = 0;
right = num - 1;
while (left < right) {
i = (left + right) / 2;
if (arr[i] == key) {
write(i);
return O;
}

else(
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return 0;

}
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int main () {
int n = 5, arr[5], tmp[5];

int i, intv;

int sl1, el, curl, s2, e2, cur2;

i = 0;
while (1 < n) {

arr[i] = read();

intv = 1;

while (intv < n) {

i=0;
while (i <= n - 2 * intv)
sl = 1i;

{
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el = sl + intv;

curl = sl;

s2 = el;

e2 = s2 + 1intv;

cur2 = s2;

while (curl < el && cur2 < e2)

if (arr[curl] < arr[cur2])

tmp[i] = arr[curl];
curl = curl + 1;

} else {
tmp[i] = arr[cur2];
cur2 = cur2 + 1;

}

i=1++1;

}
while (curl < el) {
tmp[i] = arr[curl];

curl = curl + 1;

while (cur2 < e2) {
tmp[i] = arr[cur2?];

cur?2 = cur2 + 1;

if (i + intv < n) {

sl = 1i;

el = sl + intv;
curl = sl;

s2 = el;
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curz2 = s2;
while (curl < el && cur?2 < e2)
if (arr[curl] < arr[cur2])
tmp[i] = arr[curl];
curl = curl + 1;

i =14+ 1;

} else {
tmp[i] = arr[cur2];
cur2 = cur2 + 1;
i=1i+1;

}

while (curl < el) {

tmp[i] = arr[curl];
curl = curl + 1;
i =1+ 1;

while (cur2 < e2) {
tmp[i] = arr[cur2];

cur?2 = cur?2 + 1;

} else {
while (i < n) {

tmp[i] = arr[i];

while (i < n) {
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while (i < n) {

write(arr[i]):;

return O;
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int factorial (int m) {
int f res = 1;
while(m > 1) {
f res = f res * m;
m=m - 1;
}

return f res;
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int cal combiniation (int c_base, int ¢ _num) {
return factorial (c_base) / (factorial (c¢c_num) * factorial (c _base -

c_num)) ;

int cal permutation(int p base, int p num) {

return factorial (p_base) / factorial (p_base - p num);

int isqgrt(int n) {
int 1 = 0;
while (i < n) {
if (1 * i <=n && (1 + 1) * (1 + 1) > n) {

return i;

return -1;

int mod(int k1, int k2) {
if (k1 < 0 || k2 <= 0) {
return -1;
} else {

return k1 - k1 / k2 * k2;

int is prime(int 1) {
int j = 2;
int end = isqgrt(l);

while (j <= end) {

13




41

42

43

44

45

46

47

48

49

50

51

52

53

54

55

56

57

58

59

60

61

62

63

64

65

66

67

68

69

70

71

72

if (mod(l, j) == 0) {

return O;

return 1;

int main () {

int base = read();
int key = read();
int com = cal combiniation (base,

key) ;

int per = cal permutation (base,key);

int index = 1;
while (index <= com) {
if (is_prime (index)) {
write (index) ;
}

index = index + 1;

index = 1;
while (index <= per) {
if (is prime (index)) {
write (index) ;
}

index = index + 1;

return O;

14




PRI 32 TilsiH: 1231235
TP 53 Pl H: 12357123571113 171923293137 4143 475359
W TFEHPIBERIAE A EOT I 1 HEF Bk 0 A5 e (R RLe 2 2240

20

21

22

23

24

25

26

32 C-2

LU

int mod(int x,int vy)
{

return x -(x / y) * y;

int gcd(int ¢, int d)
if (c==0)
return d;

return gcd(mod(d,

int lcm(int e, int £)

return e * £ / (gcd(e,

int main ()

int n, i, g;

int tmp, sum = 0;
int a[50];

int b[50];

n = read();
i=0;

while (i < n)

c),c);

£)):
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i=14+1;

g = gcd(sum, tmp);

sum = sum / g;
tmp = tmp / g;
if (tmp == 1)

write (sum) ;
else
{

write (sum) ;

write (tmp) ;
}

return 0;

lem (tmp, b[il);
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struct Rectangle {
int r length;
int r width;
int r area;

}s

struct Triangle {
int t width;
int t height;
int t area;

}s

int main() {
struct Rectangle r;
struct Triangle t;
r.r length = 100;
r.r width = 25;
t.t _height = 36;
t.t width = 24;

r.r area = r.r length * r.r width;

t.t area = t.t height * t.t width / 2;
write(r.r area);

write(t.t area);
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return 0;
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struct Good {
int price;
int number;

}s

int main () {
struct Good goods[10];
int cnt = 0;
int sum = 0;
while (cnt < 10) {
goods|[cnt] .price = cnt + 101;
goods [cnt] .number = cnt + 1;

cnt = ¢cnt + 1;

cnt = 0;

while (cnt < 10) {
sum = sum + goods[cnt].price * goods[cnt]
cnt = cnt + 1;

}

write (sum) ;

return O;

.number;
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struct Car {
int loc_x;
int loc y;
int speed;

}s

struct Street {
int distanceSum;
int speedAverage;
struct Car cars[3];

}s

int distance (struct Car carl, struct Car car2) {

int dis x 0;

int dis y 0;
if(carl.loc x > car2.loc x){
dis x = carl.loc x - car2.loc_x;

}

else/{

dis x carz2.loc_x - carl.loc x;

if(carl.loc_y > car2.loc_y){

dis y carl.loc y - car2.loc y;

else(
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dis y = car2.loc_ y - carl.loc_ y;

}

return dis x + dis y;

int sum distance (struct Street street2) {
int sum = 0;
sum = sum + distance(street2.cars[0], street2.
sum = sum + distance(street2.cars[l], street2.
sum = sum + distance (street2.cars[2], street2.

return sum;

int ave speed(struct Car car3, struct Car car4,

return (car3.speed + caréd.speed + carb.speed)

int initStreet (struct Street streetl) {
int index = 0;
streetl.distanceSum = 0;
streetl.speedAverage = 0;
while (index < 3) {
streetl.cars[index].loc x = 30 * index + 10;

streetl.cars[index].loc y = 20 * (index + 1)

streetl.cars[index].speed
index = index + 1;
}

return O;

int main () {

struct Street myStreet;

20

cars[1l]);
cars[2]);

cars[0]);

struct Car car)) {

/ 35

- 15;

(index + 1) * 100 - 50;
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initStreet (myStreet);

write (sum distance (myStreet));

write (ave speed(myStreet.cars[0], myStreet.cars[l], myStreet.cars
[21))7

return O;
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int main() {
int mat[4][4];

int i,73,k;

while (j < 4){
mat[i][J] = 999;

J =3+ 1

i = 0;

}

mat[0][1] = 3;
mat[0] [3] = 5;
mat[1]1[0] = 2;
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mat[1][3] = 4;

mat[2][1] = 1;
mat[3][2] = 2;
k = 0;

while(j < 4) {
if(mat[i][k] + matl[k][j] < mat[i][]]) {

mat[i] [J] = mat[i] [k] + mat[k][]];

write(mat[0][3]);
write(mat[1][2]);
write(mat[2][1]);

write(mat[3][0]);

return 0;
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int initW(int w[6]) {

w[0] = 0;
wll] = 1;
wi2] = 2;
w[3] = 5;
wl(d4] = 6;
w[5] = 7;

return O;

int initv(int v[6]) {

v[0] = 0;
vil] = 1;
vi2] = 6;
v[3] = 18;
vIid] = 22;
v[5] = 28;

return O;

int main () {
int weight[6];
int value[6];

int resutls[6][12];

int r i;
int r j;

int ki, kj;

23




31

32

33

34

35

36

37

38

39

40

41

42

43

44

45

46

47

48

49

50

51

52

53

54

55

56

57

58

59

60

initW (weight) ;

initV(value) ;

while(r i < 6){
r j=0;
while(r j < 12){
resutls([r i][r J] =

rj=r3j+1;

while (kj < 12) {
if(kj < weight[ki]) {
resutls[ki] [k]j] =
}

else{

if (resutls[ki-1] [k

[kil]){
resutls[ki] [kj]
}
else{
resutls[ki] [kj]
117

0;

resutls[ki-1]1[k]j];

j] > valuel[ki] + resutls[ki-1][k] - weight

= resutls[ki-1][k]j];

= valuel[ki] + resutls[ki-1][kj-weight[ki
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ki = ki + 1;

write (resutls[5][11]);

return O;
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int Swap(int a[8], int 1, int h)
{
int temp;

temp = alll;
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return O;

int Partition(int b[8], int low, int high)

int base = b[low];
while (low < high)
{
while (low < high && b[high] >= base)
{
high = high - 1;
}
Swap (b, low, high);

while (low < high && b[low] <= base)
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int

int

low = low + 1;
}
Swap (b, low, high);
}

return low;

QuickSort (int c[8], int lowl

if (lowl < highl)

{
int basel = Partition (c,
QuickSort (c, lowl, Dbasel
QuickSort(c, basel + 1,

}

return O;

main ()

int n = 8;
int arr[8];
int 1 = 0;

while (i < n)

QuickSort (arr, 0, n-1);
i = 0;

while (i < n)

, int highl)

lowl,
- 1)

highl);
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write(arr[i]);

return O;
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